Cannabis and Blockchain, the
CSE’s record breaking year

May 31, 2018 — “I am here to give you an update on the CSE. In
a word we are busy. 2017, we were busy. It was a record year.
We have had a record year almost every year, but this one
exceeded all others. At the end of the year we had 35
companies with a market cap each of over $100 million dollars.
It was the first time that our companies collectively and
there were about 310 on average last year I would say, that
raised over a billion dollars in financing.” states Rob
Cook, Senior Vice President of Market Development of the
Canadian Securities Exchange, in a recent presentation at the
7th Annual InvestorIntel Summit — Buds, Batteries & Blockchain
2018.

Rob Cook: I am here to give you an update on the CSE. In a
word we are busy. 2017, we were busy. It was a record year. We
have had a record year almost every year, but this one
exceeded all others. At the end of the year we had 35
companies with a market cap each of over $100 million dollars.
It was the first time that our companies collectively and
there were about 310 on average last year I would say, that
raised over a billion dollars in financing. Due to the volume
of our trading, it was the first time that our 300 odd
companies traded more on a couple of days in December more
than all of the companies on the TSX Venture Exchange in each
of volume, value and trades. We had a lot of trading. Here is
our 5-year trading trend. I think it is fair to call this a
hockey stick. There are not too many hockey sticks that you
will see in a graph that are not projections. This one 1is
historical. We are happy with that. You can see there 1is
active trading, but is there liquidity? It is a small stock
exchange. Most people seem to assume that there is going to be
less liquidity on the CSE than on other stock exchanges that
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have a much bigger list. Turnover is a measure of liquidity.
It is one that is easy to find. You take the value of the
trading of all the shares and you divide that by the market
cap of the companies whose shares you are trading. This is a
monthly slide. I think you can guess that the red line is the
CSE because it is the highest on the slide. I may not be
showing it to you if it was not, right? The black line 1is the
TSX and it is a more stable trading environment partly because
it is larger, partly because it is large cap stocks. Typically
it runs 4% to 5% a month turnover in trading. Our peak was
over 30% in December. Yes, that was powered largely by
cannabis. Some people claimed it was all cannabis. It is not
true. It is only about 90%. It has obviously come off quite a
bit since then, but in March our turnover was 13% compared
with 5% on the other exchanges in Canada. We are not actually
showing this to tell you that our market is more liquid than
their market. What we have always told people is that the
stock exchange does not give you liquidity. Liquidity is a
function of investors’ interest in trading the securities that
are listed on your exchange. Obviously there was a lot of
investor interest. All of the investors in our marketplace are
part of the Canadian capital markets so we have the same
dealers, the same investors. We do have different companies.
That was a very big year for us. This slide shows growth in
listings on the CSE. It goes back to 2007..to access the
complete presentation, click here
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